CabakTblH TaKblPbIObI:

y = a(x — m)?, y = ax* +n KOHe

y = a(x — m)? + n,a # 0 TypiHaeri KBagpaTTbiK PYHKLUMANAP



OKy MaKkcaTtTapbl:

8512y =alx—m)?y=ax?*+nxoeHe y=alx —m)* +n,a # 0
TYpiHAEri KBagpaTTblK PYHKUMANAPAbIH, KAacueTTepiH bineai xKaHe
rpaduUKTEpPIH canaabl;

HKeTICTIKTEP KpUTEPUMI:



TonneH >XymMbIC

OpOip TonTa Kem gereHge 6ip cypeTLui, Oip XasyLbl, Oip KPUTHUK,
Bip aHanNUTUK 6onNy Kepex.

KpuTukK KaTte i3genal, WblKkaH HaTuxXenepai Tekcepea,.
AHaNUTUK KOPbITbIHOLI XKacayfa »ayarThbl.

CypeTui rpapumkTepal Ccbi3yfa XxayanThbl.

>KasyLibl ecen cayatThbl TIIMEH TYCIHAIPINTEHre XayarTbl.
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2-MbICaJl.
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Y = (x-4)°




O31H11-031H Oarasa.

Y =(x-3)°
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SKETCHING GRAPHS BY ‘COMPLETING THE SQUARE’

If we wish to find the vertex of a quadratic given in general form vy = ax?+bx+c¢ then one approach
is to convert it to the form y = a(z — h)? + k where we can read off the coordinates of the vertex
(h, k). One way to do this is to ‘complete the square’.

Consider the simple case y = 22 —4x + 1, for
which a = 1.

y=1z°—4x+1

y=1x>—4r+22 +1— 22
\q,—/\‘/—/

y= (z—2)° -3

dr + 1

To obtain the graph of y =22 —4x + 1 from the
2 we shift it 2 units to the right

graph of y = =
and 3 units down.




Tancbipma

&1




